Paper: B.E_B.Tech
Set Name: |Item33
Exam Date: | 28 July 2022
Exam Shift: | 1
Langauge: |Odia
Topic: Mathematics-Section A
Item No: 1
QL{estion 100601
ID:
Question
Type: MCQ
A6RaR 2ARR AAE xdy=(,/x2 +1? +y)dx , x>0, QAARIGT 6081 x =1 Qy =0 Ol6Q 9&°

Question:

6Bl x =2Q 1y = a O6R 68Q @6 | 606 ot FJal 266 :
A: l

2
B: E

2
C: — E

2

D: E

2
Topic: Mathematics-Section A
Item No: 2
Ql.festion 100602
ID:
Question
Type: MCQ

- — —_ -1 x> —4x+2
. E@QM YERIEIFIRR AUGEMCN TRE AlEal L6 IR o @CI0g 606 et f(x)=cos —

Question: x+3

Q TR 6899 ARG 26T :




[
A: — oo, l]
\ 4
B: —_ l ’ m)
. 4
(B
D: [—m’ l:l
3
Topic: Mathematics-Section A
Item No: 3
Question
D- 100603
Question
Type: MCQ
_ — M A A M s AN o A MA
e @dle a=(1+t)i+(1—-t)j+k, b=1-t)i+(1+t)j+2k9Q° c=ti—tj+k,teRCl6R
Question: o e e _
@ 6d o, B, ye R aa+ Bb+yc=0=a=p=y=0 | 666Q t Q 91 FAIAIGTQ 6LST
aeS'
A R ASHRY QIR 66!
B: JIISe Q°wlyl 636 N Qe Qg
C: R —{0} 92 Q9
D: QYR °Gll 646 R 9L deliw
Topic: Mathematics-Section A
Item No: 4
Question
D 100604
Question
Type: MCQ
Quest AQERITT F6RETER TR AIREQ ggd AIRgea T010g 609, MRS cos ~1(x)—2sin~ L(x) =
uestion: ~ =
cos ~1(2x) @ Q98 AARIGYERR ANE QAR :
A: 0




B: 1
C: l
2
D: _l
2
Topic: Mathematics-Section A
Item No: 5
auestion | 100605
Question
Type: MCQ
Questi 620 99l *, © € {A, v} 1 98 (pxq)@(p © ~q) 92 aQ@ (CESIERIT) 260, 696Q §ia 631G
uestion:
(x, ®) 86T :
A: (v, A)
B: (V, V)
C: (A, A)
D: (A, V)
Topic: Mathematics-Section A
Item No: 6
Question ID: | 100606
Question
Type: MCQ
T g DT .
FER@A 99 Q9T 3 Q 6EEY 9 | 16990 9@ QdIT b 999@ 64 I6Ri@ (v, i) e RXR—{(0, 0)}
Question: _ _ g el
W — —> — =¥ = P L Xb
AlGl, @lIE (v a +1yb) Qo (6ya—18xDb) do mf | 66 |4 Q f)md el
A: 9\/5
B: 273
C: 9
D: 81




Topic:

Mathematics-Section A

Item No: 7
Question
D: 100607
Question
Type: MCQ

te (0, 2m) Q19 9F 398 ABC 9@ Q9912 G9F QIRIa a1dageaiee A(sint, —cost), B(cost, sint)

.- o . 1

Question: | g C(a, b), 6JCGE 12IQ ARAERY ¥IQ 98 AUCA 2T LR 688 (1, 3)> 696 (a®>—Db?) Qg
A: 8

7
B: 8
C: TV

9
D: SV
9
Topic: Mathematics-Section A
Item No: 8
Question
ID: 100608
Question
Type: MCQ
Quest aeN Qe 9@ MR R @ YUGR HWIARER 628 N U6 919 @1 6498@ R = {(x, v) :
uestion: - < s < - -

3x+ay, 7 Q 9Eeq} | U@ R G 9@ ATQRY AHQ@ 2ES TG Qe UQ :
A: o =14
B: a, 4 Qgéoa &ea |
C: a @ 10 QIR QUNEm QIcledd 4 269 |
D: a Q7 Qo LY @em «lel 69 4 26T |
Topic: Mathematics-Section A
Item No: 9
Question 100609

ID:




Question

Type: oS
f0ag! 60 QUG FIERI 9Q° S09g! 40 QUG dod 6e@lQl @ dUFIeR ol 60 WGl aqugiei
Question: 92JEQ 6LIGH TERTE 626 | AQITICR 6QGH SR auIgiis ey 66 Jqd BT QIR
QaEd | 6QIGY §6966 AMBIAINIRE g F4S ARREl SIS | @8 RS aNBId G4
AGR 62910 AR 26T :
A: E
4
B: E_
16
C: E
32
D: E’_
16
Topic: Mathematics-Section A
Item No: 10
Question
D: 100610
Question
Type: S
A x e (0, 2) AR y = y(x) AR AWNRRE
H = 2 dy - 2 . —4x . w
Question: (sm 2x)—+(85111 2x+2sindx)y=2e " (2sin2x+cos2x) Q Y@ AANAIF 29, 6dRQO0IE]Q
dx H
y(m/4)=e"T, 6069 y(m/6) AN :
A 2 273
3
" 2 g3
V3
c. 1 —og3

V3




1 o3

D: —p
J3
Topic: Mathematics-Section A
Item No: 11
Question
D: 100611
Question
Type: MCQ
Question: A% AIQUERIR 12 = 2v —3 QUEQ @ P 1&° Q 0161 A& IR AI6r IQ R(0, 1) 06 682 RE,
| ee6e G9e POR Q QA6a8 269 :
A 0, 1)
B: (2, — 1)
c: 6, 3)
D: 2, 1)
Topic: Mathematics-Section A
Item No: 12
Question
D 100612
Question
Type: MCQ
11 - - =
q60aa Q@ 17+ —x+2y =~ @ 6ag C 263 I P 98 @uad 1@ 99 | 4@ cadl C 9 okl
Question: - - L
Q@ PReq, 66l CP 49 1 6@ AR @A 1Q° QEY'Y @4 Q Q° R OI6Q 682 @6Q | 6069
399 POR @ 68907 (99 I996Q) 266 :
A: 2
B: 3.2
3 g
C: 85111(—)
8
D:




Topic:

Mathematics-Section A

Iltem No:

13

Question ID:

100613

Question Type: | MCQ

Question: 72022 432022 @ 5 QIR QIS FEM QUGEHY 26T
A: 0
B: 2
C: 3
D: 4
Topic: Mathematics-Section A
Item No: 14
Question
D- 100614
Question
Type: MCQ
01 0

A66aa AIgg A=0 0 1| 9o Aidg By=A%¥+2A% | 9@ B =Adj(B,_,) (298 n>1 qI9),

Question:
1 0 0

606Q det(B,) 4ellx :
A: 323
B: 33U
C: 332
D: 33’5
Topic: Mathematics-Section A
Item No: 15
Question
D- 100615
Question MCQ

Type:




1
aceaa S| = {zl eC: |z; - 3 =5} @Sy = {23 € C: |zp — |za+ 1| = |22 + |22~ 1|} . 6069

Question:
7, €5, 99° 2, € S,, YR |zp— 77| R ASFG A 6T

A: 0
B: l

2
C: E

2
D: E

2
Topic: Mathematics-Section A
Item No: 16
Question
D 100616
Question
Type: MCQ
Question: | 22 x2+1y2=1,2=0 0IQ AALR 2x + 3y +z = 6 JC ARG AAQ CIPRQ {F] Qg F1Ig 63T QU6

| 2980 626m, 69 R0 26S :
A (6x+5y—12)2+4(3x+7y—8)2=1, z=6—2x —3y
B: (5x + 6y —12)2+4(3x +5y—9)2=1, z=6—2x — 3y
c: (6x +5y—14)2+9(3x +5y—7)2=1, z=6—2x —3y
D: (5x + 6y —14)2+9(3x + 7y —8)2=1, z=6—2x — 3y
Topic: Mathematics-Section A
Item No: 17
Question
D: 100617
Question
Type: MCQ
2

Question:

— Sx o T
Qe aee f(x)= — T3, 1>0,9960q a1 14 6T, 6962 o @ JAY AAIR
X




A 32
B: 64
C: 128
D: 256
Topic: Mathematics-Section A
Item No: 18
Question
D 100618
Question
Type: MCQ
A6RAQ o, B NQ° y AT gRIAR 1] Yl | flx) = ax®+Bx> +yx, x e R ¥&° ¢ : R—R
9@ 69 g(fix) =x AW xeR AR |
Question: 1&
9 ay, Ay, Ay, ..., 2, ISR 6GESI16R 61@@ digi elagla 0, coce f| g E%f(af) @ ¢Ja
==
aale :
A: 0
B: 3
C: g
D: 27
Topic: Mathematics-Section A
Item No: 19
Question
D- 100619
Question
Type: MCQ
29961 ay, ay, Ay, ... § FOIQ @A 6LUURE a; =1, a,=299"° app = +ap,n=1,2,3,... 4,
dn+1
Question: a1+l a;,_»-l—i a3+i a3,0+i
. a a a a
Q@ 2| 2 1. = 3 1=2%("Cys), a e R, 6969 a 2R :
ag aq a5 asp
A: - 30




B: - 31
C: - 60
D: - 61
Topic: Mathematics-Section A
Item No: 20
Qlfestion 100620
ID:
Question
Type: MCQ
X
Yol YRnald 6¥IadIQlQl Ine f(x)=fex_t f’(t)dt—(xz—:c+1)el, xeR, Q Q]@@({] eImy
Question: 0
aes :
2
A: R —
Je
B: —~2.fe
C: _\/E
2
D: _—
Je
Topic: Mathematics-Section B
Iltem No: 21
Question | 190621
Que§ti0n Numeric Answer
Type:
F6R@a S diq I (‘al'él (glé) Ae@Q @ 696, €Il 6 Q 8 RUIERQRA Qd4a, Gﬂﬁﬂeﬂ gegia aieaqe
Question {A, B, C, D, E} flig) 9@ 2Ineres (28Q) @l {1, 2, 3, 4, 5} ¢lig) 9@ d°§l, 28aQ Jas adle
uestion: 5 . =T = % e %
di AFele QALINE | I 643, S Q FeUARR ALBGILER AR ER 691N QUeqa {1, 2,3, 4, 5}
71alg @ <6l 6XImed 4Q° 929 ﬂlﬂ@léﬂlm QS X 5° 26Q, 6969 a = I
Topic: Mathematics-Section B
Item No: 22
Question 100622

ID:




Question

Numeric Answer

Type:
56 43 111 < = B L
aeeaa P(—2, —1, 1) 4@° Q E,E,F @ QY PRQS @ d1deg 89e | 49 @l RS @
Question: L _ % . L 2
Qdlet QO AQUICAIER a, —1, B e 6HROICA G o NQ° B AR dacldllr Q9F gL sl
218, 6969 aZ+p?= |
Topic: Mathematics-Section B
Item No: 23
Qgestion 100623
ID:
Question .
Type: Numeric Answer
A68aQ (0, 1) ASARER £: [0, 1] — R IR GIQ U@ Ta 649a&@ f0) =3 9&° f(1) =51 9@
Question: 6QSll ¥y =2x+3 IR fQ 6@%1@‘9@ SN @_Sl@ gelm, @@_6@ (0, 1) Ol6Q 68%@ @6, 606 x € (0, 1)
QI 6TL0I6R f"(x) = 0 4, AIGE] FQ LI x 26T |
Topic: Mathematics-Section B
Item No: 24
Qlfestion 100624
ID:
Que§tion Numeric Answer
Type:
V3 3
15x
. A I 3 dx_aﬁ_'_ﬁﬁ, 69Q0169 o, B Qﬁfﬂ"‘%ﬂl, 6069 a+p 49l
Question: 0 . [1+4+x2+ (1+x2)
- I
Topic: Mathematics-Section B
Item No: 25
Ql.festion 100625
ID:
Question

Type:

Numeric Answer




1 -1 B 1
12 ST A={2 rx} Q* B=L 0] a, B e RIYal (60QQ o, o NG fImY digl
Question: 5 2 |2 2 ~ e
(A+B)* =A%+ | 2.9 @69, 95" 0y, 0 6 204 @ R D12 (A+B)* =B @ U7 @6l | 6069
|D€1 —llz‘ = |
Topic: Mathematics-Section B
Item No: 26
Question
D: 100626
Question .
Type: Numeric Answer
P, qe R @ 9@ Q18R R fix) = (x—p)2—q, ¥ e R 98° > 0§ F9IQ @R | A669R ay, a,, ag
Questi NQ° a, FlIeR 9@ A8 6616 Gl@@ dI9IQ Flle p 9Q° dRIQE 2SR 9@ JRL°slYl | q@
uestion: _ .
|f(a,—)‘=500 adei=1,23,4 QIELI', 6069 f(x) = 0 @ Q@R dor! didday 26s
I
Topic: Mathematics-Section B
Item No: 27
Question ID: | 100627
_I(?ues.tion Numeric Answer
ype:
x% y2 >
QA0Y QRAQEIIR H:x2—y? =1 9° 9RAQ E: — +F=1’ a>b>0 diR (6509 :
a
(1) EQ 2Q6ag (624dF) H Q 206299 4Gqe ¥e®
Question:
5 <
(2) 68l ¥= E x+K @@ E99° HaQ RIS 942 |
6062 4(a+b?) = |
Topic: Mathematics-Section B
Item No: 28
Question
D: 100628
Question

Type:

Numeric Answer




1
CERRR Xy, Xo, X, -.., Xy IR GESIRQ 69EIYD QAR x; =3 I ARNIKE AFAS =

5 | R Q08
Question: o w "2 ~ —
@Y LUIQ PAUGIR 6dRAOIER YeL X; dIslEa (xr-—x) emGlolml | d9 5, B0 QEHCITER Flldelle
g4, 6969 y 0IQ AR @l ¥ QAL AR AR JLAEIIT 266 |
Topic: Mathematics-Section B
Iltem No: 29
Question ID: | 100629
Ques.tion Numeric Answer
Type:
100
3 2 y ™
Question: fim (x+2cosx) +32(x+2cosx) +3sin(x+2cosx) aqie |
x50 (x+2)° +2(x+2)? +3sin(x +2)
Topic: Mathematics-Section B
Iltem No: 30
Question ID: | 100630
_?;pees:tion Numeric Answer
3x2—9x +17  5x2—7x+19
Question: * R X T | I x Q QI QLR JAANRFR ANF
P31l B4 Bxdz Pod: e SIS SIE g %
Topic: Physics-Section A
Iltem No: 31
Question ID: 100631
Question Type: | MCQ
2
— | @ dIglE] 62Q :
Question: Ko
(99 py: YVUANIQ AIQGNS! 99° B : QA1 689 626m)
A [M L2T-2]
B: MLT-2]
C: [ML-1T2




D: [M A =8 A~
Topic: Physics-Section A
ltem No: 32
Question
D 100632
Question
Type: MCQ
217 929 19.6 m QFVIEQ TRl AIFY 9 69R 9@ AFIR 9 km/h €966Q 9@ NCC Q4I60@
R AEY ANA6Q AIFRT 2T 0R9 TIRIARI | FEE RUCRT BINTR JTER | IR 2R,
Question: | 3a1 6ase 989 90Q! 2R -
(@@ : g=9.8 m/s?)
A: 5m
B: 10 m
C: 19.8 m
D: 245 m
Topic: Physics-Section A
Iltem No: 33
Question
ID: 100633
Question
Type: MCQ
QAT G2 9QIBEER 5 kg @ 9@ 9 25 ms ! 6RGI6Q Q@ R RIAER RN 621N KAREA (i) 3
Question: | 696@4 \Q° (ii) 5 696Q€6Q R @4 |
FeIaq A0R 2AARE QIR
A: Qg QdeR QIR 2UERT 9Q° LR P ARFldl QR JAIFEER AR LR |
B: 216a0 A9 JQIFSER AR QRS 1212 QAL 9@ QX 699 |
C: QLR AP ARG ANNVSER AT QG FIY 26RT AR 699 |
D: QAL AP IG° 2T QY TAYLER 98 AR 629 |
Topic: Physics-Section A

Iltem No:

34




Question

D 100634
Question
Type: MCQ

QIYER IR 69NAR 99Q 10 g 6T | 6°9RY Y IR AAF 4.5 cm/s 62960 A0 6298 | 9@ 55
Question: | 6@ 6aARE Afd GET IQ 62IRAN (°R), 6962 6RR AUER ALY FYAR VAL YRR AALNE

(P1996Q) 699 :
A: 3
B: g
C: 12
D: 18
Topic: Physics-Section A
Iltem No: 35
Question ID: | 100635
Question
Type: MCQ
Question: | QEIRIQ QAR 2% LA AR AIg ZQ G RN | YA YIER YIY T QA :
A: 2% €14 dIpQ
B: 4% Q4 dipQ
c: 2% QF dIe@
D: 4% QF AIQ@
Topic: Physics-Section A
Item No: 36
Question ID: | 100636
Question
Type: MCQ

1cm? Qi 98 8QI GIRQ 62617 QRGE FEQ IR 2R PR TAAE 623! :
Question:
(P19 @°al gelie =2x 101 N/m? Q2IAIRG)

A: 1x107 N
B: 1.5x107 N




C: 2x107 N
D: 25x107 N
Topic: Physics-Section A
Iltem No: 37
Question
ID: 100637
Question
Type: MCQ
Question: QAT AFAQ VG 50% 266 | 4G ARG (2°]) @ QIAAIgl 40° (g1) C @9 [N, Y2 TG
| 30% Q@I | 929 QIUAIG 6IR
A: 166.7 K
B: 2051 . K
C: 266.7 K
D: 367.7 K
Topic: Physics-Section A
Item No: 38
Question
ID: 100638
Question
Type: MCQ
6 9RG Sl F2IARG |
QURIl: 299 MR AARER YR ARG ARG BTG AU TR F6R |
Question: | Q2@ I1:  &FLIR &R rms @ 9@ GUIYER v AT | LG QNG QRGSl G2l 2EIRIR g TGS
621Q AARIF QNG 62IREAN, rms (96 AIR) dQ 20 62IRTQ |
QUEAUB PR QAR ALERXRG F67IB FrRIG A0R AYARE QIS :
A: Wl @ea I99° II 4964 269 |
B: Qe @26 I99° II §ayl 269 |
C: @2a I 4o ¢11Q @ele 11 qenl 269 |
D: Qe I denl q1e Kele 1T 99y 2163 |
Topic: Physics-Section A

Item No:

39




Question ID:

100639

Question Type: | MCQ

QA LR
Question: 2
y =05 Sin="= (400 t — x) m 6Q PAGR 690 62 :
A: 200 m/s
B: 20042 m/s
C: 400 ]I'l/ 5
D: 40042 m/s
Topic: Physics-Section A
Item No: 40
Question
D 100640
Question
Type: MCQ
Questi Q@G 40 pF UGG Y58 ARG 68411 °6KIT FAUTRI | 61T A°RIAGR ARG K dQUGQuale
uestion: - < . —~
29l TR L6 Y4l RN QA IR AAGMY UGG 24 pF 62wl | K Q gay 62l :
A: 1.5
B: 25
C: 1.2
D: 3
Topic: Physics-Section A
Item No: 41
Question
D 100641
Question
Type: MCQ
Question: R, 9961 &9l Qg aIa 69]1q 0I'a A9 JI0Ee AAq 9ags 62IRsRl | G2l gasalx Gl
| 9 9EeaRIA ARMIR 689 :
A: 9:1
B: 1:9




D:
Topic: Physics-Section A
Item No: 42

Question ID: 100642

Question Type: | MCQ

JIARIERINGAR R6RE oRG! (620ATET) 9F FAUIRAIRR :
(A) 621 L&Y A R QI |

(B) QAL 613G QF @A QI |
Question: . N
(C) NN 2 91d @@l QI |
(D) 3 0odain Faieq 214 Q@ |
QAR IR IR AT AUYR UG QUL :
A: (B) 4@° (C) 62w
B: (C) 4@° (D) 629w
C: (A) 4Q° (C) 629w
D: (B) 9@° (D) 6@e@
Topic: Physics-Section A
Item No: 43
Question
D: 100643
Question
Type: MCQ
TQ6Q QUIGM TR 0.45 kg m! 65¢@ ARG FIR IR 6A0IR L IR g2l ARG FREQ AR
QUER QEF | G OF YAABQ TG AL 45° 6RIEER 2RFE | Feq FQ WSl AT a6 gL
QGG AEALA A, QG AAER YR BF6Q FIAIRIAT 0.15 T QARG 68F IR 6760 622 7
Question: | 18=10 m/s? QIR AR}

B4 Al




A: 30 A
B: 15 A
C: 10 A
D: 3 A
Topic: Physics-Section A
Item No: 44
Question
D: 100644
Question
Type: MCQ

4R Agd 690 (R950) AARTER A6REQ ANRRAE 5 sin(49 wt —30°) 263 | AT 690@s! 30 mH

, 29, 690AQ Y99 SRQQ RS 621 :

Question:

- 3

T = —
7

A: 1.47 sin(49 wt—30°)
B: 1.47 sin(49 =t +60°)
C: 23.1 sin(49 wt—30°)
D: 23.1 sin(49 wt+ 60°)
Topic: Physics-Section A
Iltem No: 45
Question
D 100645
Question
Type: MCQ

og6a QedRl 9, FGLe (A1) 1 6Qa FOARI J6a ARCA 626! v, A Tl FIIA 2 6Q 629 :

(@@ : c=3x108 ms-1)

p-'r=1 lJ"I=
e =4 €=9
Cl v | W

A: 1.0x 108 ms-1!




B: 0.5%x 108 ms-1
C: 1.5%x 108 ms-1
D: 3.0x108 ms-1
Topic: Physics-Section A
Iltem No: 46
QL{estion 100646
ID:
Question
Type: MCQ
49 goQad a1 69R6Ig (9aa188) @ iR IRERUCAL 6Q6R, AR (2A6RFSR) 22l
Question: | 2R6aER (AINTQ) FRIER 0G! 30 cm 6T | 6I6R CCREAIR 6AIR ARG 2 4, ARYERA
6TIRY 6N 689 :
A: 20 cm
B: 30 cm
C: 10 cm
D: 15 cm
Topic: Physics-Section A
Item No: 47
Question | 490647
Question
Type: MCQ
1.227 i i - e w =
k= nm AINKET AEARTAA @ 6T A ERLY RIF AR MYLIR FAUAAAUER | 98
X
ANAAEER x 68 :
Question: 6d@0O m=EEMRCA IEY
P=Q6nasae d°6xdl
K=Q6ae00a 90 4@
V=Qod 392 601969 REAKER Qa8 IR
A JmK
B: JP




C: \/Iz

D: N

Topic: Physics-Section A
Iltem No: 48
I%‘?GS”O” 100648
Question
Type: MCQ
- - P - ~ Z - w
Question: @ 603 499 @4Q daeler 60 @@ 26C | JIda Q4Qe 3 th 99 €29l din 2die QAL
eual -
A 120 @@
B: 130 @@
C: 180 @@
D: 20 @@
Topic: Physics-Section A
Iltem No: 49

Question ID: 100649

Question Type: | MCQ

Question: Q09 609 980 6AMIQ 69 MICAPAER, @HINE, R FIQ AL




C:
\'%
I 'y
D: ; / "
( \
Topic: Physics-Section A
Item No: 50
Question /400650
Question
Type: MCQ
Question: | ZIRIA 6AIPERIRER QUE/ARFY 6AUR AR 6EIPENAR, JEIT (1) 629! 2R |
A: B = 5
B: =1
C: M= 2
D: = 0
Topic: Physics-Section B
Item No: 51
Question
D- 100651
1Q_ue§tion Numeric Answer
ype:
~ A 2 i i 3 2 =
Question: | A9 2i +4j — 2k Q 6016899 [ 9699 i + 2] + ak QUERQ FRY/@EQU DY, 6061 o Q MY
eYaQ |
Topic: Physics-Section B
Item No: 52
Question 100652

ID:




Question

Numeric Answer

Type:
AWM 99O 99 6056 ARY ALa ARRIRR 2 A4l 30 69 26e | 9aq FHe FReda 9199, 2ead

Question: | IQE GAINT ERING 64 & 2UF 26T | 60 AIGE AN T6Q, @LT FAUAX Q6T MR
6RIQUIRQ, Qe el Q4 |

Topic: Physics-Section B

Item No: 53

Ql{estion 100653

ID:

Que§tion Numeric Answer

Type:
QG 296 99 AQINEER 560 nm GAF 6RAIR AR ARG, FRTR1 Aee T8 FkI6R 7.2 mm

Question: | @AEI 2RI, MERAS TUIGE IV FEA | AM IR AL QIRLIQ FER, TN AR T8 996! 8.1 mm
62IRCIN | §019 ARG Q Fae 636y 6 nm |

Topic: Physics-Section B

Item No: 54

Question | 400654

?ues.tion Numeric Answer

ype:
LCR d6R (669198) A0@669, @604 2IgE 9IQ AR JAIR % g8l 62IQN QalRer 212

Question: ﬁ _ _
rad s~! ¥Q° 232 rad 57! 2IQAER | AQARGQ JTEAUI 5 L 626R, 6T mH
622 |

Topic: Physics-Section B

Item No: 55

Qgestion 100655

ID:

Question

Type:

Numeric Answer




Seeq Galeml 98 20 O gdeqlx @2l 300 cm 6GAY QI 6QIcPRABHTR Gl 98 gosal |Ig
(R.B.) 99° 4 V emf 2QI FIQIS 647 62119 | (R.B.) § ‘R’ @ F6QuI1 QIRLIQ Q6R, 20 mV @

4R 6@ IR g5 99 60 cm 6Q §6R | ‘R Q gau Q 629 |
4V R
Question: | —6)—RB]
A B
—©
20 mV
Topic: Physics-Section B
Item No: 56
QLfestion 100656
ID:
1Q_ue§tion Numeric Answer
ype:
QRG G940 CIRedin KPR PR6dia 671604 (G6rq A6Rd) daliResl 1.2x10-30 Cm 9Q°
2.4x10-30 Cm 266 | 627G 9@ 92 €1, 1@ AIe (§Fad) IQe, 69g LA VG 2IREE
Question: | 5x10¥ NC-1 @al 15x10* NC-! 6a ag¢licial |
RENRTR, VRNCIN, 9 2O AN AR 2 (c0R) L 626M, x Q FJM 689 |
X
Topic: Physics-Section B
Item No: 57
Qlfestion 100657
ID:
.IQ.ueS_tion Numeric Answer
ype:
Quest 36 km/h 6906 QIRIQ 219q ¢ @QaR! 657, 320 Hz 2IQ@6q §dm Q6a06R, Hz
uestion: — i -
AREQ AITIRQ 6 R6R! (JGYA1)69R TR FEI6R | QYR TR 626! 330 m/s 26T |
Topic: Physics-Section B
Item No: 58
Ql.festion 100658
ID:
Question

Type:

Numeric Answer




4@ PR QA9 QNI AIgl 9I9Rsa 2 mm aal, 1750 kg m—3 AAQa 9@ AR (AQIAR) 6Q
2980 g6d 0.35 cms-! Q6 Q& AN |

Question: ) ~
AQARR US| GSlI poise 622 I(FRoQ A°HI6R)
(MR IFQ KO 269
Topic: Physics-Section B
Item No: 59
QLfestion 100659
ID:
?ues.tion Numeric Answer
ype:
‘m’ 9209 IQ 97 (Fe6a @didal 9d) E dd8 486a 66 @@ 9@ @°Q 25 cm QAN 2°0Ee
(296gQ) @al, 9I'a 86, 21 6291 99 | 4920 §°a ° 98I nE Nm-1 626@ n=
629 |
Question:
—E
m
Smooth surface
Topic: Physics-Section B
Item No: 60
Question | 490660
Question

Type:

Numeric Answer




QIEAUT 9@ QAR ‘M’ QgQ 92l ‘a’ AR G TR GelIgR 9 ANIAIRE | A& OO’ AICATER FLY
qd (6n1604 a1 Aeadal) EMaz 626m, x @ 6a<Q |
TO
Question:
lo
Topic: Chemistry-Section A
Item No: 61

Question ID: | 100661

Question MCQ

Type:

Question: Y Qe ﬁﬂa Qe |

QPAAR FIRUSQ 699 FRIRIA AUYER AEARER M V19! 6RIAT AT AL YIRS

A: o
oY@ |
B: 9P JRCIgR YR 6268 9@ QERRSR SAE TRR () |
c: 60T A9 2dQ AUNECLIETR I QAU QRIGS 29 |
D: n 9&° [ QIEE QS QA VIR RVRQ 960G a4 621NN |
Topic: Chemistry-Section A
Item No: 62
Question ID: | 100662
Question Type: | MCQ
Question: ARNNE I 690 AART O] g6e ?




A AH = AU—-PAV
B: AU = q+w
C: ﬂ.S ¢ +AS =0
D: A= AH-TAS
Topic: Chemistry-Section A
Iltem No: 63
Questi
ID‘feS '°" 1100663
Questi
T}llJpeeS: on MCQ
QA I @ IRl I 980 Aad :
SRR 1 QIR 11
(A) Cd(s) + 2Ni(OH)s(s) —» CdO(s) + 2Ni(OH),(s) + H,O() (I)  dlafia auieoal
(B) Zn(Hg) + HgO(s) — ZnO(s) + Hg(l) QAR SRR
Question: QY0 98 Fdle A
(C) 2PbSOy4(s) + 2H,O(l) = Pb(s) + PbO,(s) + 2H,S0,(aq) (II) Q8 6@
(D) 2H,(g) + Oy(g) = 2H,0(1) Q0109 METAIF VIS
@aal
A0 R0 77 e e :
A (A) - (@), (B) - (1), (©) - (1), (D) -
B: (A) - (IV), (B) - (), (©) - o
C: (A) - (1), (B) - (1), (O) - =
D: (A) - (1), (B) - (1), (©) - (1), (D) -
Topic: Chemistry-Section A
Item No: 64
Question ID: | 100664
Question MCQ

Type:




QAR I @ QIRel II 9% delel :

QAR I A=l |
goqa QAVEYR
(A) 4NHj3(g) + 50,(g) —4NO(g) + 6H,O(g) (D NO(g)
Question: | (B)  N(g) + 3H(g) - 2NHs(g) (1) HS0,()
C12H201q1(aq) + HyO() = CgH1204 + CgH120g
(<) Glucose Fructose () Pi(s)
(D) 2S05(g) + Oz(g)— 2503(g) 3 (IV) Fe(s)
A0R, QREY GF IQeq Q19 :
A (A) - (ID), (B) - (I1I), (C) - (), (D) - (IV)
B: (A) - (D), (B) - (II), (C) - (I), (D) - (IV)
C: (A) - (1), (B) - (IV), (©) - (II), (D) - (1)
D: (A) - (), (B) - (II), (C) - (IV), (D) - ()
Topic: Chemistry-Section A
Iltem No: 65
uestion 1 100665
Question
T;pe; ° MCQ
RS 69IF1 I 699 671RRIFRA AUNFR ACARTR 6617 IRAINT AAIe Al 9@ gRla ?
(A) Rb @° Cs
. (B) Na 9e° K
Question:
(C) Ar 9Q° Kr
(D) 198 At
d0Q, @0edq ¢ Ge8q QIS :
A: (A) 9Q° (B) 6QQ@
B: (B) ¥@° (C) 6@a@
C: (A) 9Q° (C) 69




D: (C) ¥e° (D) 6ae%

Topic: Chemistry-Section A

Item No: 66

Question ID: 100666

Question Type: | MCQ

Question: AR 986 QA 6aQ AR A AR 6% JFFUT AVYs ?
A: 2(:1128 + 302 %2(:1120 + 2802

B: Fe;O, + CO — 3FeO + CO,

c: Al,O3 + 2NaOH + 3H,0O — 2Na[Al(OH),]
D: Al,O53 + 6Mg — 6MgO + 4Al

Topic: Chemistry-Section A

Item No: 67

Question

D- 100667

Question

Type: MCQ

Question: | QAT U8G MALQ AA YRY 9AA¢ AR ANAEQ S0F 6TIRAR AP NG TR 6267 :

A Ca(OH), and Mg(OH),

B: CaCO,4 and Mg(OH),
c: Ca(OH), and MgCO,
D: CaCO; and MgCO,
Topic: Chemistry-Section A

Item No: 68

Question ID: 100668

Question Type: | MCQ

Question: FINYe 6aR AT QR ?

A LiF @ @96 @F Q94190 6268 210 2R6edR IRAd 6Qlg |




B: KO, 2G9a%1¢, 269 |

C: AR 2CAIFIICR CAFAAR Q8 JRoea atalal |
D: 6AIZAC] PR ARG AT UG O] 2R |

Topic: Chemistry-Section A

Item No: 69

Question ID: 100669

Question Type: | MCQ

QIR I q QIR IT 99e dxId

QAR I QAR 11
(A)  (NH,),Cr07 —2— ) H,
Question: (B) KMnO4 + HCl — (I) N,
(C) Al+ NaOH + H,O — (I o,
(D) NaNO; —=— ) cl,

A0 RAGq 07 GReq QI :

A: (A) - @), (B) - (11D, (C) - (0), (D) - (IV)
B: (A) - (), (B) - (1), (C) - (IV), (D) - (IT)
C: (A) - 1D, (B) - AV), (©) - (I, (D) - (1)
D: (A) - (), (B) - (IV), (©) - (1), (D) - (1)
Topic: Chemistry-Section A

Item No: 70

Question ID: 100670

Question Type: | MCQ

Question: paade g QLR Sdie Age H, QlRia @del ge@ dg01q @ ?

A: Cu

B: Mn




C: Ni
D: n
Topic: Chemistry-Section A
Iltem No: 71
Question ID: 100671
Question
Type: MCQ
QC6Q Q06 98 TS |
Q@ 1: Jogdeo FR6a Qe QGYe 236w 99° BOD @ ga 929 @ |
Question:
@QBI: AYTERQE TRQ QY0 AT AIgl @dal |
QUEAB Q@ 2RIRER AQ0IG QIYD QY 7 Fa8q AUD :
A: Qg 9@ I 9e° @@ I1 0K |
B: Q09 98 19° & 11 9N |
c: Q8 10@ @3 @3 119 |
D: o8 19m @3 @8 11 0% |
Topic: Chemistry-Section A
Item No: 72
Question ID: 100672

Question Type:

MCQ




QIR I g QIR IT 93¢ Al :

QIR I Qlaa! II
(A) O O e (Aasal) 6ANG
(B) >Q>< ()  2leqiendr edlda
Question:
(C) :[>< () 2Qceeis A8 oQe edde
(D) @ (IV) QIedineql 6dISie
A0 @EQGq G¢ IReq QI8
A (A) - (1), (B) - (), (©) - (IV), (D) - (III)
B: (A) - (IV), (B) - (I1I), (C) - (I), (D) - (IT)
c: (A) - (), (B) - (IV), (C) - (I), (D) - (IT)
D: (A) - (IV), (B) - (I1D), (C) - (1), (D) - (@)
Topic: Chemistry-Section A
Item No: 73
Question ID: 100673
Question Type: | MCQ
a9 9oRw AR 0K 398q Qg |
T Hg(OAc),, H,O
uestion: BH ’
e B« D32 5 H,C—C—CH=CH, il ik 9
H,0,/0H | NaBH,

CH,




A ‘A’ NG° ‘B Qe FI6RIReR 6UIBINe QI

B: ‘A’ 6298 F16R1799 QYIe 9° ‘B’ FI6IRee fsaldl 29I
c: ‘A’ NS° ‘B’ Q9 62988 I6RIReR Feair eI

D: ‘B’ 6208 Q1601096 99° ‘A’ 6268 FI6RIRee FealM agle
Topic: Chemistry-Section A

Iltem No: 74

Question ID: 100674

Question Type: | MCQ

Question: QRge FrIg) 6ar 6dIdRq 80 6716918, AR0IQ @9 K, al 698N ?

H
A: |

H,C - COOH

H O

B: ||
H
&
C: HE'
O

S




Topic:

Chemistry-Section A

Iltem No: 75
Question ID: 100675
Question Type: | MCQ
Q6 QUURAR JOFU ALRAER I WS A 4Q° B Q@ 5912 |
T
1) CH,CHCH,, AICl
8 0, 1 M NayCr,0/1550,
Question: ) > PP » A
(3)H , H,0 .
Br, in CS,
OH OH
A: Q° @
Br
o) OH
B: \Q(a-,o @
'0) Br




0O OH
Br Br

c qQ°

®) Br

OH

OH Br By

D:
Q°
Br
Topic: Chemistry-Section A
Iltem No: 76
Question ID: | 100676
Questi
T;JpeeS: on MCQ
Q6R RAUARIAR QAR AR A0R KET] Fgil :
Question: CEHEJON&
' CH3—CH2—CH2—CH—CH3—FA + B
| CH;0H (Major)  (Minor)
®N(CH,),

A: A - CH,CH,CH=CH -CH,, B - CH,CH,CH,CH = CH,, 64668<, @JI<
B: A - CH,CH,CH=CH -CH,, B - CH,CH,CH,CH = CH,, 2g6¢%, @qI<
C: A - CH,CH,CH,CH =CH,, B - CH,CH,CH = CHCH,, 226¢1%, @qI<




D: A - CH,CH,CH,CH =CH,, B - CH,CH,CH = CHCH,, 6296r< QI
Topic: Chemistry-Section A

Item No: 77

Question ID: 100677

Question Type:

MCQ

Question: 600N QLRR (6R AARe QA :
A Q62R-1, 2-2I98M 9e° 628a -1, 3 GIARIEAIFAR, 2T
B: 69I69R -1, 2-PIQ2R 98° 6Q@R-1, 4 QIRRICITAR e
C: Q62Ra-1, 2-9192R 9e° 628Q-1, 4 PRRICIIFTAR 27
D: Q6eR -1, 2-21R2M 9S° 698R-1, 2 QIRRIESIRAR 219
Topic: Chemistry-Section A
Item No: 78
Question ID: 100678
_?;pees:tion MCQ

Q6R TURAS 9Fa 62F9deee (X) CIR 90K JAERIR AR 6268 :

HO - (|2 —H

HO—é—H O
Question: H- (lj — OH

HO - (lj —H

H-C
(|:H20H




3e
@
|

OH
A: OH
HO |
OH
HO =i
OH
B: OH
HO |
OH
HO —
HO | OH
OH
HO =
HO OH
D: OH
OH
Topic: Chemistry-Section A
Iltem No: 79
Question ID: 100679

Question Type:

MCQ




Question:

AIeR Feqld Gy FUACR A8 060 F2UAAD :

) 6Q7l6R QY 4R I° IERIEANR 2R QRIS |

a

(A) goeaIg ¥e° agoedicl Fequue G 2I21a@ |

(B

(C) dgoeaig ARIGER I6RIEINR 9Pa AR @4 capalala |
(D)

2goeaIg G geR Q9 9 Q@R QAR GS |
A0 RG] &¢ FREq AL :

Topic:

Chemistry-Section A

Item No:

80

Question ID:

100680

Question
Type:

MCQ

Question:

2IARIRG, 2I9e 926 H,0, Q @8 SIIFIgEe goaaa d6e 2qaes dial :
(A) CAQYERIER VR N6 IO VG QARG MR AR |

(B) dQ6Q6R 6QIGLS dIRB ANETS @Rda ARl KI @Qdl 0 @F o4 |
(C) QP Qer 6Q3I6QRl deah A6et AR 6aF QS |

(D) Q1R O 6aHI6al 99 ANNQ GIS, 6a% 9 |

(E) 96969 62139 2ING dneTs @@dk dIgel KI @@d Of 2y o |

A0 @@ 7 Faeq Q9 :

caa@ (A), (B), (O

), (E)

(
69a% (A), (D
6ea® (D), (E)
6@a® (4), (B), (E)




Topic: Chemistry-Section B

Iltem No: 81

Question ID: 100681

Question Type: | Numeric Answer

QR goad aIe

X +Y + 3Z SXYZ,

Question: QIR 671IRQ X B'Y 0.05 mol Z Q89 XYZ, 6J15i@ @9 |

XYZ, @ QQIo6 6268 g 6 | (Gaceq gdasy)

(@8 : dAIEIRR 99Q X, Y ¥9° Z Q 624@ <aIged 10, 20 ¥S° 30 amu)

Topic: Chemistry-Section B
Item No: 82

QL.Jestion 100682

ID:

Question .

Type: Numeric Answer

671@R M 2I1Q 6@64 300 pm 99 IR ACHLR JRRIQ IR EATER AT QS A6Q | 6104
Question: | A9Q 6298 6.0 g cm~3 | 180 g 671AR6Q Al ARIGIGRR AGHI 6298 x 102 |
(Facen gdace)

Topic: Chemistry-Section B

Iltem No: 83

Question ID: 100683

Question Type: | Numeric Answer

QIAGe kg AQARIY gRIGR Al 6808

Question:
: — 2— + = +
Topic: Chemistry-Section B
Item No: 84
Question ID: | 100684
1Q_ue§tion Numeric Answer
ype:




150 g 964T@ 2l¢] 10.2 g 99@0@Q, &if) (C,HgO,) 9E6 defic aqudiadal deaieq (xx10~1)°C
QRSN IR | ¥ Q TRy 62eR | (Fecen gaasa)

Question: i
[@@ K=3.9 K kg mol ™ "]
[M2QREa 2da 28Ee @g% =176 g mol ~ B
Topic: Chemistry-Section B
Item No: 85
Qgestion 100685
ID:
Question .
Type: Numeric Answer
QTR &g, (C;H,COOH) @ K, 628 2x107° | Q5aQ 2ge 0.2 M Qedle pH 62@8
Question: x10—1 |
[@® log 2 = 0.30]
Topic: Chemistry-Section B
Item No: 86
Qgestion 100686
ID:
Question .
Type: Numeric Answer
9@ 98 Jaee goqaleq
A—B
Question: . P . . . ~ . .
Joaala aflg 629g 0.3010 {100 | dealeq diada dikel 8 2.0 906 dowle iRl
Ao el 26% I
Topic: Chemistry-Section B
Item No: 87
Question 490687
Question ,
Type: Numeric Answer
FIRYE GPa g 6N TFeIR A 2R ZILTNENERR JEIR WY 6288 ———— |
Question:
ClF,, IF,, BrF;, BrF;, I,Cl,, IF;, CIF, CI_F5
Topic: Chemistry-Section B
Item No: 88




Question

D 100688
Question .
Type: Numeric Answer
MnO?3~ @ 2gia AkIea F2gaIe1as Taqqd 9aG AINEE, 6d1dQ A ¥9° B a0 caal | 9@
Question: | Mn Q GI9¢ 22gl B 62 A 2608l @7 94 01626/ B @ 6a9@ de 9Aag 2194 () @ g 6298
BM | (Gaseq gdasu)
Topic: Chemistry-Section B
Item No: 89
Question ID: | 100689
?ues.tion Numeric Answer
ype:
Quest 2Q TR gR [Cu(en),(SCN),] AR AU A1 Z6ANIRE TQ AN I A 62
uestion:
|
Topic: Chemistry-Section B
Item No: 90
Question ID: | 100690
?ues.tion Numeric Answer
ype:
Quest C, H 9g° O §I9d @991 0492 g @ 9@ 6579 edidaq Add 92 @em 0.7938 g CO, 9e°
uestion:

0.4428 g @ H,O gge 62al | 64ITaca 2F6aaa a9 d91°d (%) c2as |




